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Recall: Find all the factors of 24. |' 2,%3,4,6,%,12,24

¥ Fuctor @ number that Yow Con d\vu—_e +tle ng\w\l nambe . Ansker must be

A polynomial is factored when it is written as a product of two or maore Ir\tetgt’rs
&’ |

xpanding - Pifributing
fg.  7(x+2) is the factored form of 7x + 14
Definitions: W
Monomi 0\\ is a polynomial with one term. terms = Binomia |

BStems = Trinominl
G'reﬂtl 5t Common Factor is the greatest number and/or

variable that is a factor of two or more numbers or terms.

Examples:

polynomials. Fﬁ['tof‘lf\g a polynomial is the reverse process of 0% Pﬁ“‘l-mg O

a) The GCFoflZ and 8is 4 2 i alsp Common ‘FU.CT‘W, bwt 47 72

b) The GCF of 12x%y and 6xy? is XY 2,60, 12,1,y @ /
¢} The GCF of 5xy? and 20y is gy

Te factor a polynomial:
1) Find te GCF
2) Writt GCF outside of tw brackets.
3) bivide He teeme by e GCF

Example 1 Monomial common factor 81 - 1 g ;L

Factor fully, if p055|ble iy

a) 6x+3 b) 8:x-2 -~7x
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@ 3 (2t 1) CESUE RN B

) 2_'5]{5 +15k* &5, kKM d) 21c*d? - 28¢%d5 + 7cd?
5'}45‘%%”%‘* — Bkt @ Tcd?

=CA

D 5k4 @ 1cd C%c’d’% —4cd ~H>

Qs () = Ted* (3C — 4cd™+ 1D




Challenge Questions {Preview):
Expand.

Lo+ 2Dx+3)
=34 3XFL+ 6
="+ 64 + 6

2. (x H2)(x* +5x + 5

= 43 ;7( +Z(15+@+ 10")6\F (4
= T4 I+ 14

3. 4x?y(3x% + 7xy?)

4. After expanding, you get x? + 10x + 25. What two binomials multiply to give you that
frinomial?

Find 2 binomials m‘hat multiply to give you the polynomials below: .
QA +bA+ C

B 24
= J{ﬁ J(r, ' !
= + AN + &/ﬂ Pl tnp Wtegers Q¢ C

=X Cv(Hs) + (D) —D C?(‘FS\)/QI u) AT L
6. 4_x2 -9 \‘x.__ |
W = 3 ‘3
X 3%

= (27 +3) (21-3)
7. 3x?4+13x + 12

Super Challenge: Find 2 polynomials that multiply to give you the following polynomial:

8 x3-1



e 2,20, Yyt z?
e) Sx°y3 4 Twsz? f)( 2x3y*2? +@
. ARy
Mot Facrorable © E(C_f : 117 _% a2 22 2-2 22
@ 2Ly (11 Y2 F 2% -y-2
=2y (Wy* + 22 ) |

g x*+x h) 8x®—4x2+32xr Axy =42
D GCcF = A & () GCF = 42
3~ 2-1 -
@ A (+1) @41[21 — A +8x )

=44 ( 29— A +8)

i} 3x%y - xy? i} 9a® — 8ab

Example 2 Binomial Common Factor
Factor.

a) 3x+7z
© acF =+
SO [FAG+) | 726+
(Y+1) Cy+1)

= (y+1) (30 +72)

= (L-32) (21—5>




) 5x*(x+ D)~ 10xGx + 3) O (2143)
® acr = 52 (2A+3) @ (2343 (570 = o)

= 5y (2o432) (3t —2)
EA (2A+3) (L — 2D

Example 3 Factor by Grouping
Factor.

a)(ax + ayr@2x + 2y )
&8 2.

a(X+y) +2(x+y) — acF= (Aty)
= (x+y) (A t+2)
HN@‘@}F3I+S

= 39 ( 3 +5) +(37045)
= (373+5) (31 +1)

[l

H I Challenge Factor.
3) xy+x+y+1



